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Group A
(3,0) 1) Consider the long run equilibrium in a monopolistically competitive industry. Starting from that equilibrium, explain the chain effects of the following events:

- An increase in production costs.

- A decline in the market demand.

Contrast the two situations.

(3,0) 2) When do psychological entry barriers occur in an oligopoly market? Explain, recurring to a graphical analysis in case you find it appropriate.
Group B
Using what you learnt in both part A and part B of our syllabus:
(3,0) a) Relate the notion of R&D with the levels of market concentration, diversification of firms and publicity in some industries.

(3,0) b) Explain the following assertion: “Even with patents, the income received by an innovator is lower than the value he creates for society”. Whenever appropriate, illustrate you answer using a graph.

Group C
(4,0) 1) Suppose the following market demand curve for electronic components:

Q = 12 – P. There are no production costs.

(1,5) a) If there is only one firm in the industry, which price should it set?

(1,5) b) Suppose now that both a dominant firm and a competitive fringe operate in the industry. Whatever the market price, the competitive fringe supplies 4 units of the product. Which price should the dominant firm set?
(1,0) c) Compare and comment on the results obtained in the two previous answers.

(4,0) 2) Consider a market where there are two types of consumers, with the following demand curves: P = 10 – 2q1 and P = 20 – q2. Assume the costs of the sole producer in the market are given by TC = Q = q1 + q2, where TC is the total production cost.
(1.5) a) Suppose the monopolist decides to sell only to the second type of consumers, and that perfect price discrimination is viable. Calculate the monopolist profit and the consumer surplus.

(2,5) b) Suppose now that the monopolist may sell to the two groups of consumers, but that perfect price discrimination is not an option. Calculate the profit maximizing prices, and the profits the monopolist will obtain from each group of consumers.
